Math 1210-009 Fall 2013

First Midterm Examination

23rd September 2013
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1. In each of the following problems find the indicated limit or state that it does not exist.
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2. In each of the following problems check if the limit exists by calculating the right and left handed

limits.
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3. Determine the points, where the following functions are not contiuous. Determine if the discontinu-
ities are removable and if so, give a continuation of the function at these points.
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4. Use the Intermediate Value Theorem to answer the following questions.

(a) Show that the equation 23 — 222 +1'f 0 has a solution between 1 and 2.
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